
PAPER –1: FINANCIAL REPORTING 

QUESTIONS 

1. Himalaya Ltd. which is in a business of manufacturing and export of its product.  

Sometimes, back in 20X4, the Government put restriction on export of goods exported by 

Himalaya Ltd. and due to that restriction Himalaya Ltd. impaired its assets. Himalaya Ltd.  

acquired identifiable assets worth of ` 4,000 lakhs for ` 6,000 lakh at the end of the year 

20X0.  The difference is treated as goodwill.  The useful life of identifiable assets is  

15 years and depreciated on straight line basis.  When Government put the restriction at 

the end of 20X4, the company recognised the impairment loss by determining the 

recoverable amount of assets for ` 2,720 lakh.  In 20X6 Government lifted the restriction 

imposed on the export and due to this favourable change, Himalaya Ltd. re-estimate 

recoverable amount, which was estimated at ` 3,420 lakh. 

 Required:  

(i) Calculation and allocation of impairment loss in 20X4. 

(ii) Reversal of impairment loss and its allocation as per AS 28 in 20X6. 

2. On 1st April, 20X4, Shelter Ltd. issued 5,000, 8% convertible debentures with a face 

value of ` 100 each maturing on 31st March, 20X9.  The debentures are convertible into 

equity shares of Shelter Ltd. at a conversion price of ` 105 per share. Interest is payable 

annually in cash.  At the date of issue, Shelter Ltd. could have issued non-convertible 

debt with a 5 year term bearing a coupon interest rate of 12%.  On 1st April, 20X7, the 

convertible debentures have a fair value of ` 5,25,000.  Shelter Ltd. makes a tender offer 

to debenture holders to repurchase the debentures for ` 5,25,000, which the holders 

accepted.  At the date of repurchase, Shelter Ltd. could have issued non-convertible debt 

with a 2 year term bearing a coupon interest rate of 9%. 

Show accounting entries in the books of Shelter Ltd. for recording of equity and liability 

component: 

(i) At the time of initial recognition and 

(ii) At the time of repurchase of the convertible debentures. 

The following present values of ` 1 at 8%, 9% & 12% are supplied to you: 

Interest Rate Year 1 Year 2 Year 3 Year 4 Year 5 

8% 0.926 0.857 0.794 0.735 0.681 

9% 0.917 0.842 0.772 0.708 0.650 

12% 0.893 0.797 0.712 0.636 0.567 

3. Mac Ltd. purchased goods on credit from Toy Ltd. for ` 580 lakhs for export.  The export 

order was cancelled.  Mac Ltd. decided to sell the same goods in the local market with a 

price discount.  Toy Ltd. was requested to offer a price discount of ` 10%.  Toy Ltd. 
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wants to adjust the sales figure to the extent of the discount requested by Mac Ltd.  

Discuss whether such a treatment in the books of Toy Ltd. is justified as per the 

provisions of the relevant Ind AS.  

 Also, Toy Ltd. entered into a sale deed for its Land on 15 th March, 20X1.  But registration 

was done with the registrar on 20 th April, 20X1.  But before registration, is it possible to 

recognize the sale and the gain at the balance sheet date?  Give reasons in support of 

your answer. 

4. An entity constructs a new head office building commencing on 1st September 20X1, 

which continues till 31st December 20X1.  Directly attributable expenditure at the 

beginning of the month on this asset are ` 100,000 in September 20X1 and ` 250,000 in 

each of the months of October to December 20X1. 

 The entity has not taken any specific borrowings to finance the construction of the asset, 

but has incurred finance costs on its general borrowings during the construction period. 

During the year, the entity had issued 10% debentures with a face value of ` 20 lacs and 

had an overdraft of ` 500,000, which increased to ` 750,000 in December 20X1.  Interest 

was paid on the overdraft at 15% until 1 October 20X1, then the rate was increased to 

16%. 

Calculate the capitalization rate for computation of borrowing cost in accordance with  

Ind AS 23 ‘Borrowing Costs’. 

5. ABC is a construction contract company involved in building commercial properties. Its 

current policy for determining the percentage of completion of its contracts is based on 

the proportion of cost incurred to date compared to the total expected cost of the 

contract. 

 One of ABC’s contracts has an agreed price of ` 250 crores and estimated total costs of 

` 200 crores. The cumulative progress of this contract is:  

Year ended 31st March 20X1 31st March 20X2 

Cost incurred 80 145 

Work certified and billed 75 160 

Amount received against bills 70 150 

 ABC prepared and published its financial statements for the year ended 31 st March 20X1. 

Relevant extracts are: 

 ` in Crores 

Revenue [(80/200) x 250] 100 

Cost of sales (80) 

Profit    20 
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Balance Sheet (Extracts) 

 ` Crores 

Current assets  

Amount due from customers  

Contract cost to date 80 

Profit recognized  20 

 100 

Progress billing to date (75) 

Billing to be done    25 

Contract asset (amount receivable) (75-70) 5 

 ABC has received some adverse publicity in the financial press for taking its profit too 

early in the contract process, leading to disappointing profits in the later stages of 

contracts. Most of ABC’s competitors take profit  based on the percentage of completion 

as determined by the work certified compared to the contract price.  

 Required  

(a) Assume that ABC changes its method of determining the percentage of completion 

of contracts to that used by its competitors, as this would represent a change in an 

accounting estimate.  Prepare equivalent extracts to the above for the year ended 

31st March 20X2.  

(b) Identify, whether the above change represents a change in accounting estimate or a 

change in accounting policy and why? 

6. On 31 March 20X1, the inventory of ABC includes spare parts which it had been 

supplying to a number of different customers for some years.  The cost of the spare parts 

was ` 10 million and based on retail prices at 31 March 20X1, the expected selling price 

of the spare parts is ` 12 million.  On 15 April 20X1, due to market fluctuations, expected 

selling price of the spare parts in stock reduced to ` 8 million.  The estimated selling 

expense required to make the sales would ` 0.5 million.  Financial statements were 

authorised by Board of Directors on 20th April 20X1.  

 As at 31st March 20X2, Directors noted that such inventory is still unsold and lying in  the 

warehouse of the company.  Directors believe that inventory is in a saleable condition 

and active marketing would result in an immediate sale.  Since the market conditions 

have improved, estimated selling price of inventory is ` 11 million and estimated selling 

expenses are same ` 0.5 million.  

What will be the value inventory at the following dates: 

(a) 31st March 20X1 

(b) 31st March 20X2 
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7. Following is the extract of the consolidated financial statements of A Ltd. for the year 

ended on: 

Asset/ (liability) Carry amount as on 
31st March, 20X1  

(In ` ‘000) 

Attributed goodwill  200 

Intangible assets  950 

Financial asset measured at fair value through other 
comprehensive income 

300 

Property, plant & equipment  1100 

Deferred tax asset  250 

Current assets – inventory, receivables and cash balances  600 

Current liabilities  (850) 

Non-current liabilities – provisions (300) 

Total 2,250 

 On 15th September 20X1, Entity A decided to sell the business.  It noted that the 

business meets the condition of disposal group classified as held for sale on that date in 

accordance with Ind AS 105.  However, it does not meet the conditions to be classified 

as discontinued operations in accordance with that standard.  

 The disposal group is stated at the following amounts immediately prior to reclassification 

as held for sale.  

Asset/ (liability) Carry amount as 
on 15th 

September 20X1 
(In ` ‘000) 

Attributed goodwill  200 

Intangible assets  930 

Financial asset measured at fair value through other 
comprehensive income 

360 

Property, plant & equipment  1,020 

Deferred tax asset  250 

Current assets – inventory, receivables and cash balances  520 

Current liabilities  (870) 

Non-current liabilities – provisions (250) 

Total 2,160 
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Entity A proposed to sell the disposal group at ` 19,00,000.  It estimates that the costs to 

sell will be ` 70,000. This cost consists of professional fee to be paid to external lawyers 

and accountants. 

As at 31st March 20X2, there has been no change to the plan to sell the disposal group 

and entity A still expects to sell it within one year of initial classification.  Mr. X, an 

accountant of Entity A remeasured the following assets/ liabilities in accordance with 

respective standards as on 31st March 20X2: 

Available for sale: (In ` ‘000) 

Financial assets 410 

Deferred tax assets  230 

Current assets- Inventory, receivables and cash balances  400 

Current liabilities  900 

Non- current liabilities- provisions  250 

The disposal group has not been trading well and its fair value less costs to sell has 

fallen to ` 16,50,000. 

Required: 

What would be the value of all assets/ labilities within the disposal group as on the 

following dates in accordance with Ind AS 105? 

(a) 15 September, 20X1 and 

(b) 31st March, 20X2 

8. Company A has taken a long term loan arrangement from Company B. In the month of 

December 20X1, there has been a breach of material provision of the arrangement. As a 

consequence of which the loan becomes payable on demand on March 31, 20X2. In the 

month of May 20X2, the Company started negotiation with the Company B for not to 

demand payment as a consequence of the breach. The financial statements were 

approved for the issue in the month of June 20X2. In the month of July 20X2, both 

company agreed that the payment will not be demanded immediately as a consequence 

of breach of material provision. 

Advise on the classification of the liability as current / non –current. 

9. Company A acquires 70% of the equity stake in Company B on July 20, 20X1. The 

consideration paid for this transaction is as below: 

(a) Cash consideration of ` 15,00,000 

(b) 200,000 equity shares having face of ` 10 and fair value of ` 15 per share. 

 On the date of acquisition, Company B has cash and cash equivalent balance of  

` 2,50,000 in its books of account. 
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 On October 10, 20X2, Company A further acquires 10% stake in Company B for cash 

consideration of `  8,00,000. 

 Advise how the above transactions will be disclosed/presented in the statement of cash 

flows as per Ind AS 7. 

10. On 1 April 20X1, Alpha Ltd. acquires 80 percent of the equity interest of Beta Pvt. Ltd.  in 

exchange for cash of ` 300. Due to legal compulsion, Beta Pvt. Ltd. had to dispose of 

their investments by a specified date.  Therefore, they did not have sufficient time to 

market Beta Pvt. Ltd. to multiple potential buyers. The management of Alpha Ltd. initially 

measures the separately recognizable identifiable assets acquired and the liabilities 

assumed as of the acquisition date in accordance with the requirement of Ind AS 103. 

The identifiable assets are measured at ` 500 and the liabilities assumed are measured 

at ` 100.  Alpha Ltd. engages on independent consultant, who determined that the fair 

value of 20 per cent non-controlling interest in Beta Pvt. Ltd. is ` 84.   

 Alpha Ltd. reviewed the procedures it used to identify and measure the assets acq uired 

and liabilities assumed and to measure the fair value of both the non controlling interest 

in Beta Pvt. Ltd. and the consideration transferred.  After the review, it decided that the 

procedures and resulting measures were appropriate. 

 Calculate the gain or loss on acquisition of Beta Pvt. Ltd. and also show the journal 

entries for accounting of its acquisition. Also calculate the value of the non-controlling 

interest in Beta Pvt. Ltd. on the basis of proportionate interest method, if alternatively 

applied? 

11. On 30th January, 20X1, A Ltd. purchased a machinery for $5,000 from USA supplier on 

credit basis. A’s Ltd. functional currency is the Rupee. The exchange rate on the date of 

transaction is 1$= ` 60. The fair value of the machinery determined on 31st March, 20X1 

is $ 5,500.  The exchange rate on 31st March, 20X1 is 1$= ` 65.  The payment to 

overseas supplier done on 31st March 20X2 and the exchange rate on 31st March 20X2 is 

1$= ` 67.  The fair value of the machinery remain unchanged for the year ended on 31 st 

March 20X2.  Prepare the Journal entries for the year ended on 31st March 20X1 and 

year 20X2 according to Ind AS 21. 

12. A’s Ltd. profit before tax according to Ind AS for Year 20X1-20X2 is ` 100 thousand and 

taxable profit for year 20X1-20X2 is ` 104 thousand.  The difference between these 

amounts arose as follows:  

 On 1st February, 20X2, it acquired a machine for ` 120 thousand.  Depreciation is 

charged on the machine on a monthly basis for accounting purpose.  Under the tax law, 

the machine will be depreciated for 6 months.  The machine’s useful life is 10 years 

according to Ind AS as well as for tax purposes.  In the year 20X1-20X2, expenses of  

` 8 thousand were incurred for charitable donations.  These are not deductible for tax 

purposes. 
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 You are required to prepare necessary entries as at 31 st March 20X2, taking current and 

deferred tax into account.  The tax rate is 25%. 

 Also prepare the tax reconciliation in absolute numbers as well as the tax rate 

reconciliation. 

13. A Ltd. purchased some Property, Plant and Equipment on 1st April, 20X1, and estimated 

their useful lives for the purpose of financial statements prepared on the basis of Ind AS: 

Following were the original cost, and useful life of the various components of property, 

plant, and equipment assessed on 1st April, 20X1: 

Property, Plant and Equipment Original Cost Estimated useful life 

Buildings  ` 15,000,000 15 years 

Plant and machinery  ` 10,000,000 10 years 

Furniture and fixtures  ` 3,500,000 7 years 

A Ltd. uses the straight-line method of depreciation. On 1st April, 20X4, the entity 

reviewed the following useful lives of the property, plant, and equipment through an 

external valuation expert: 

Buildings  10 years 

Plant and machinery  7 years 

Furniture and fixtures  5 years 

There were no salvage values for the three components of the property, plant, and 

equipment either initially or at the time the useful lives were revised.  

Compute the impact of revaluation of useful life on the Statement of Profit and Loss for 

the year ending 31st March, 20X4. 

14. PQR Ltd. participated in a customer loyalty programme operated by a third party  XYZ 

Ltd.  Under the programme, members earn points for purchases made in PQR’s stores. 

 The members can redeem the accumulated award points for goods supplied by the third 

party.  PQR Ltd. has granted points to its members on making purchases from its stores.   

However, the obligation to supply the redeemed goods lies with XYZ Ltd.  At the end of 

31st March, 20X7, PQR Ltd. X has granted award points with an estimated fair value of 

INR 40,000 and owes XYZ Ltd. INR 34,000 i.e. goods redeemed were of INR 34,000. 

 What should be the classification of the expense (INR 34,000) for providing free third 

party goods assuming that PQR Ltd. is collecting the consideration on its own account; 

whether it should be  

 classified as changes in inventories of finished goods, stock in trade and WIP or  

 classified as marketing expense or 

 reduced from revenue? 
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15. ABC Ltd is a government company and is a first-time adopter of Ind AS. As per the 

previous GAAP, the contributions received by ABC Ltd. from the government (which 

holds 100% shareholding in ABC Ltd.) which is in the nature of promoters’ contribution 

have been recognised in capital reserve and treated as part of shareholders’ funds in 

accordance with the provisions of AS 12, Accounting for Government Grants.  

State whether the accounting treatment of the grants in the nature of promoters’ 

contribution as per AS 12 is also permitted under Ind AS 20 Accounting for Government 

Grants and Disclosure of Government Assistance. If not, then what will be the accounting 

treatment of such grants recognised in capital reserve as per previous GAAP on the date 

of transition to Ind AS. 

16. ABC Ltd. has entered into an operating lease agreement for 5 year, for taking a building 

on lease for ` 5,00,000 p.a.  As per the agreement the lessor will charge escalation in 

the lease @ 20% p.a.  However, the general inflation in the country expected for the 

aforesaid period is around 7% p.a. 

 Examine whether the lease payment will be straight lined or not as per Ind AS 17 in the 

book of ABC Ltd.?  If yes, should the entire 20% p.a. escalation in lease rent be straight-

lined over a period of 5 years or only the difference which exceeds the expected inflation 

rate will be straight-lined? 

17. P Ltd. is a subsidiary company of ABC Ltd.  It preparing both Separate financial 

statement (SFS) and consolidated financial statements (CFS) for the year ending on  

31st March, 20XI.  It has net profit after tax of ` 20,00,000 as per SFS & ` 16,00,000 as 

per CFS.  Share capital of P Ltd. is 2,00,000 shares of ` 10 each.  ABC Ltd. has 

acquired 80% shares of P Ltd.  Accountant of P Ltd. had calculated following Basic EPS 

for its SFS: 

Calculation of Basic EPS in its SFS  

Net Profit after tax ` 16,00,000  

Number of equity shares attributable to Parent company ABC 

Ltd. (2,00,000 x 80%) 

1,60,000 shares  

Basic EPS ` 10 per share 

Examine the correctness of the above presentation of Basic EPS. 

18. Mr. Atul is an independent director of a company X Ltd.  He plays a vital role in the 

Management of X Ltd. and contributes in major decision making process of the 

organisation.  X Ltd. pays sitting fee of ` 2,00,000 to him for every Board of Directors’ 

(BOD) meeting he attends.  Throughout the year, X Ltd. had 5 such meetings which was 

attended by Mr. Atul.   
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 Similarly, a non-executive director, Mr. Naveen also attended 5 BOD meetings and 

charged ` 1,50,000 per meeting.  The Accountant of X Ltd. believes that  they being not 

the employees of the organisation, their fee should not be disclosed as per related party 

transaction in accordance with Ind AS 24. 

 Examine whether the sitting fee paid to independent director and non-executive director 

is required to be disclosed in the financial statements prepared as per Ind AS? 

19. A Ltd. is an entity who prepares its financial statements based on Accounting Standards.  

Following is the draft financial statement for the year ended on 31st March, 20X1:  

(Note all figures are ` in million) 

Balance Sheet 

Particulars Note As at March 31, 20X1 

EQUITY AND LIABILITIES    

Shareholders’ funds    

Share capital (shares of ` 10 each)       2,000  

Reserves and surplus 1   4,000  

Non-current liabilities    

Long-term borrowings 2     11,110  

Deferred tax liabilities 3       400  

Current liabilities    

Trade payables      600  

Short-term provisions       500  

Other current liabilities 4       300  

       TOTAL        18,910  

ASSETS    

Non - current assets    

Fixed Assets         11,310  

Deferred Tax Assets 3       1,000  

Current assets    

 Inventories        2,000  

 Trade receivables 5      2,200  

 Cash and bank balances      2,400  

             TOTAL      18,910  
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 Note 1: The Company has achieved a major breakthrough in its consultancy services in 

South Asia following which it has entered into a contract of rendering services with Floral 

Inc. for ` 12 Billion during the year.  The termination clause of the contract is equivalent 

to ` 14 Million and is payable in case transition time schedule is missed from  

15th December 20X5.  The management however is of the view that the liability cannot be 

treated as onerous. 

 Note 2: The Company is not able to assess the final liability for a particular tax 

assessment pertaining to the assessment year 20X1-20X2 wherein it has received a 

demand notice of ` 12 Million.  However, the company is contesting the same with CIT 

(Appeals) as on the reporting date. 

Statement of Profit & Loss 

Particulars Note Year ended March 31, 20X1  

Revenue from operations            11,000  

Expenses    

Employee Benefit Expense           2,400  

Operating Costs           4,400  

Depreciation          1,998  

Total Expenses        8,798  

Profit before tax       2,202  

Tax Expense       (300) 

Profit after tax    1,902  

Notes to Accounts: 

Note 1: Reserves and Surplus         (INR in millions) 

Capital Reserve       1,000  

Surplus from P & L   

Opening Balance      98  

Additions          1,902       2,000  

Reserve for foreseeable loss  1,000  

Total  4,000  

Note 2:  Long Term Borrowings 

Term Loan from Bank  11,110  

Total  11,110  
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Note 3:  Deferred Tax 

Deferred Tax Asset       1,000  

Deferred Tax Liability   (400) 

Total     600  

Note 4: Other Current Liabilities 

Unclaimed dividends           6  

Billing in Advance   294  

Total   300  

Note 5: Trade Receivables 

Considered good (outstanding within 6 months)    2,130  

Considered doubtful (due from past 1 year)         80  

Provision for doubtful debts       (10) 

Total  2,200  

Additional Information: 

(a) Share capital comprises of 200 million shares of ` 10 each 

(b) Term Loan from bank for ` 11,110 million also includes interest accrued and due of 

` 11,110 million as on the reporting date. 

(c) Reserve for foreseeable loss is created against a service contract due within 6 

months. 

Required:  

(i) Evaluate and report the errors and misstatements in the above extracts; and, 

(ii) Prepare the corrected Balance Sheet & Statement of Profit and Loss.   

20. The following data is given in respect of Samriddhi Ltd. for the year ended 31-3-20X1: 

Abstract of Statement of Profit & Loss for the year ended 31-3-20X1 

 ` in ‘000 ` in ‘000 

Income   

Sale 2,380  

Other Income     370 2,750 

Expenditure   

Operating Cost 1,855  

Administrative Expenses 150  

© The Institute of Chartered Accountants of India



12  FINAL (NEW) EXAMINATION: MAY, 2018 

Interest Cost 215  

Depreciation    240 2,460 

Profit before tax  290 

Provision for tax    87 

Profit after tax  203 

Credit balance as per last balance sheet      60 

    263 

 Other Information:  

  ` in ‘000 

1. Operating cost consists of:  

  Material cost 1,220 

  Wages, salaries & other benefits to employees 330 

  Local taxes including cess 70 

  Other manufacturing expenses 235 

2. Administrative expenses consist of:  

  Directors’ Remuneration 55 

  Audit Fee 25 

  Provision for doubtful debts 8 

  Others 62 

3. Interest cost consists of:  

  Interest on 10% debentures 180 

  Interest on temporary bank overdraft 35 

4. The capital structure of the company consists of:  

  Equity share capital 1,500 

  9% Preference share capital 600 

You are required to prepare a Gross Value Added (GVA) statement and calculate the 

following ratios: 

(a) GVA to Material Cost Ratio (Industry average 0.80) 

(b) GVA to Employee Cost Ratio (Industry average 3.82) 

(c) GVA to Sales Ratio (Industry average 0.70) 

(d) GVA to Capital Employed Ratio (Industry average 0.30) 

Also advise on the utility of the above ratios in comparison to the Industry average.  
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SUGGESTED ANSWERS 

1. (i)  Calculation and allocation of impairment loss in 20X4    (Amount in ` lakhs) 

 Goodwill Identifiable 
assets 

Total 

Historical cost   2,000   4,000 6,000 

Accumulated depreciation/amortisation (4 yrs.) (1,600)  (1,067)  (2,667)  

Carrying amount before impairment 400 2,933 3,333 

Impairment loss*    (400)    (213)  (613) 

Carrying amount after impairment loss          0   2,720 2,720 

* Notes: 

1. As per para 87 of AS 28, an impairment loss should be allocated to reduce the 

carrying amount of the assets of the unit in the following order:  

(a) first, to goodwill allocated to the cash-generating unit (if any); and  

(b)  then, to the other assets of the unit on a pro-rata basis based on the 

carrying amount of each asset in the unit.  

 Hence, first goodwill is impaired at full value and then identifiable assets are 
 impaired to arrive at recoverable value. 

2. Since the goodwill has arisen on acquisition of assets, AS 14 comes into the 
picture.  As per para 19 of AS 14, goodwill shall amortise over a period not 
exceeding five years unless a somewhat longer period can be justified.  
Therefore, the amortization period of goodwill is considered as 5 years.   

(ii) Carrying amount of the assets at the end of 20X6    (Amount in ` lakhs) 

End of 20X6 Goodwill Identifiable 
assets 

Total 

Carrying amount in 20X6 0 2,225 2,225 

Add: Reversal of impairment loss (W.N.2)         -    175    175 

Carrying amount after reversal of impairment loss          -  2,400 2,400 

Working Note:  

1. Calculation of depreciation after impairment till 20X6 and reversal of impairment 

loss in 20X6 

(Amount in ` lakhs) 

 Goodwill Identifiable 
assets                        

Total 

Carrying amount after impairment loss in 
20X4  

 0 2,720 2,720 
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Additional depreciation (i.e. (2,720/11) x 2)          –   (495)  (495) 

Carrying amount            0   2,225 2,225 

Recoverable amount       3,420 

Excess of recoverable amount over carrying 
amount    

   
1,195 

Note: It is assumed that the restriction by the Government has been lifted at the 
end of the year 20X6. 

2. Determination of the amount to be impaired by calculating depreciated historical 

cost of the identifiable assets without impairment at the end of 20X6  

(Amount in ` lakhs) 

End of 20X6 Identifiable assets 

Historical cost 4,000 

Accumulated depreciation  (266.67 x 6 years) = (1,600) 

Depreciated historical cost 2,400 

Carrying amount (in W.N. 1)   2,225 

Amount of reversal of impairment loss      175 

Notes: 

1. As per para 107 of AS 28, in allocating a reversal of an impairment loss for a 
cash-generating unit, the carrying amount of an asset should not be increased 
above the lower of:  

(a)  its recoverable amount (if determinable); and  

(b)  the carrying amount that would have been determined (net of
amortisation or depreciation) had no impairment loss been recognised for 
the asset in prior accounting periods. 

 Hence impairment loss reversal is restricted to ` 175 lakhs only. 

2. The reversal of impairment loss took place in the 6th year.  However, goodwill 
is amortised in 5 years.  Therefore, there would be no balance in the goodwill 
account in the 6th year even without impairment loss.  Hence in W.N. 2 above 
there is no column for recalculation of goodwill . 

2. (i) At the time of initial recognition 

 `  

Liability component  

Present value of 5 yearly interest payments of ` 40,000, discounted 
at 12% annuity (40,000 x 3.605) 

 
1,44,200  

Present value of ` 5,00,000 due at the end of 5 years, discounted at 
12%, compounded yearly (5,00,000 x 0.567) 

 
2,83,500  

 4,27,700  
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Equity component  

(` 5,00,000 – ` 4,27,700)  72,300 

Total proceeds  5,00,000 

Note: Since ` 105 is the conversion price of debentures into equity shares and not 
the redemption price, the liability component is calculated @ ` 100 each only. 

Journal Entry 

 ` ` 

Bank          Dr. 5,00,000  

 To 8% Debentures (Liability component)  4,27,700 

 To 8% Debentures (Equity component)  72,300 

(Being Debentures are initially recorded a fair value)   

(ii) At the time of repurchase of convertible debentures 

 The repurchase price is allocated as follows: 

 Carrying 
Value  

@ 12%  

Fair Value 
@ 9% 

Difference 

 `  `  `  

Liability component    

Present value of 2 remaining yearly 
interest payments of ` 40,000, 
discounted at 12% and 9%, respectively 

 
 

67,600 

 
 

70,360 

 

Present value of ` 5,00,000 due in 2 
years, discounted at 12% and 9%, 
compounded yearly, respectively 

 
 

3,98,500 

 
 

4,21,000 

 

Liability component 4,66,100  4,91,360  (25,260)  

Equity component  

(5,25,000 - 4,91,360) 

 
  72,300 

 
 33,640* 

 
  38,660 

Total  5,38,400 5,25,000   13,400 

*(5,25,000 – 4,91,360) = 33,640 

Journal Entries 

 ` ` 

8% Debentures (Liability component)          Dr. 4,66,100   

Profit and loss A/c (Debt settlement expense)        Dr.  25,260   

© The Institute of Chartered Accountants of India



16  FINAL (NEW) EXAMINATION: MAY, 2018 

 To Bank A/c  4,91,360  

(Being the repurchase of the liability component 
recognised) 

  

8% Debentures (Equity component)   Dr. 72,300   

 To Bank A/c  33,640 

 To Reserves and Surplus A/c  38,660 

(Being the cash paid for the equity component recognised) 

3. Toy Ltd. had sold goods to Mac Ltd on credit worth for ` 580 lakhs and the sale was 

completed in all respects. Mac Ltd.'s decision to sell the same in the domestic market at 

a discount does not affect the amount recorded as sales by Toy Ltd.  

The price discount of 10% offered by Toy Ltd. after request of Mac Ltd . was not in the 

nature of a discount given during the ordinary course of trade because otherwise the 

same would have been given at the time of sale itself. However, there appears to be an 

uncertainty relating to the collectability of the debt, which has arisen subsequent to sale. 

Therefore, it would be appropriate to make a separate provision to reflect the uncertainty 

relating to collectability rather than to adjust the amount of revenue originally recorded. 

Hence such discount should be charged to the Statement of Profit and Loss and not 

shown as deduction from the sales figure. 

With respect to sale of land, both sale and gain on sale of land earned by Toy Ltd. shall 

be recognized in the books at the balance sheet date.  In substance, the land was 

transferred with significant risk & rewards of ownership to the buyer before the balance 

sheet date and what was pending was merely a formality to register the deed.  The 

registration post the balance sheet date only confirms the condition of sale at the b alance 

sheet date as per Ind AS 10 “Events after the Reporting Period.”  

4. Since the entity has only general borrowing hence first step will be to compute the 

capitalisation rate.  The capitalisation rate of the general borrowings of the entity during 

the period of construction is calculated as follows: 

Finance cost on ` 20 lacs 10% debentures during September – 

December 20X1 

` 66,667 

Interest @ 15% on overdraft of ` 5,00,000 in September 20X1   ` 6,250 

Interest @ 16% on overdraft of ` 5,00,000 in October and November 

20X1 

 ` 13,333 

Interest @ 16% on overdraft of ` 750,000 in December 20X1  ` 10,000 

Total finance costs in September – December 20X1  ` 96,250 

 Weighted average borrowings during period  
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   = 
4

1) × (750,000+3) × (500,000+4) × (20,00,000
= ` 25,62,500  

 Capitalisation rate = Total finance costs during the construction period / Weighted 

average borrowings during the construction period 

= 96,250 / 25,62,500 = 3.756% 

5. (i) ABC’s income statement (extracts) for the year ended: 

 31 March 20X2 

` Crores 

Revenue (based on work certified) (160-100) 60 

Cost of sales (balancing figure) (48) 

Profit [(160/250) x (250-200)] - 20   12 

Statement of financial position (extracts) as on  

 31 March 20X2 

` Crores 

Current assets  

Amount due from customers  

Contract cost to date 145 

Profit recognized (20+12)     32 

 177 

Progress billing (160) 

Billing to be done     17 

Contract assets (amount receivable) (160-150) 10 

(ii)  The relevant issue here is what constitutes the accounting policy for construction 

contracts. Where there is uncertainty in the outcome of a contract, the appropriate 

accounting policy would be the completed contract basis (i.e. no profit is taken until 

the contract is completed). Similarly, any expected losses should be recognised 

immediately.  

Where the outcome of a contract is reasonably foreseeable, the appropriate 

accounting policy is to accrue profits by the percentage of completion method. If this 

is accepted, it becomes clear that the different methods of determining the 

percentage of completion of construction contracts are different accounting 

estimates. Thus the change made by ABC in the year to 31 March 20X2 represents 

a change of accounting estimate.  
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6. As per Ind AS 2 ‘Inventories’, inventory is measured at lower of ‘cost’ or ‘net realisable 

value’.  Further, as per Ind AS 10: ‘Events after Balance Sheet Date’, decline in net 

realisable value below cost provides additional evidence of events occurring at the 

balance sheet date and hence shall be considered as ‘adjusting events’.  

 (a)  In the given case, for valuation of inventory as on 31 March 20X1, cost of inventory 

would be ` 10 million and net realisable value would be ` 7.5 million (i.e. Expected 

selling price ` 8 million-  estimated selling expenses ` 0.5 million).  Accordingly, 

inventory shall be measured at ` 7.5 million i.e. lower of cost and net realisable value.  

Therefore, inventory write down of ` 2.5 million would be recorded in income 

statement of that year.  

 (b)  As per para 33 of Ind AS 2, a new assessment is made of net realizable value in each 

subsequent period. It Inter alia states that if there is increase in net realizable value 

because of changed economic circumstances, the amount of write down is reversed 

so that new carrying amount is the lower of the cost and the revised net realizable 

value. Accordingly, as at 31 March 20X2, again inventory would be valued at cost or 

net realisable value whichever is lower.  In the present case, cost is ` 1 million and 

net realisable value would be ` 10. 5 million (i.e. expected selling price ` 11 million – 

estimated selling expense ` 0.5 million).  Accordingly, inventory would be recorded at 

` 10 million and inventory write down carried out in previous year for ` 2.5 million 

shall be reversed.  

7. (a) As at 15 September, 20X1 

 The disposal group should be measured at ` 18,30,000 (19,00,000-70,000).  The 

impairment write down of ` 3,30,000 (` 21,60,000 – ` 18,30,000) should be 

recorded within profit from continuing operations. 

 The impairment of ` 3,30,000 should be allocated to the carrying values of the 

appropriate non-current assets. 

Asset/ (liability) Carrying 
value as at 

15 June 
2004 

Impairment Revised carrying 
value as per IND 

AS 105 

Attributed goodwill  200 (200) - 

Intangible assets  930 (62) 868 

Financial asset measured at 
fair value through other 
comprehensive income 

360 - 360 

Property, plant & equipment  1,020 (68) 952 

Deferred tax asset  250 - 250 

Current assets – inventory, 
receivables and cash balances  

520 - 520 
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Current liabilities  (870) - (870) 

Non-current liabilities – 
provisions 

(250)        - (250) 

Total 2,160 (330) 1,830 

The impairment loss is allocated first to goodwill and then pro rata to the other 

assets of the disposal group within Ind AS 105 measurement scope.  Following 

assets are not in the measurement scope of the standard- financial asset measured 

at other comprehensive income, the deferred tax asset or the current assets. In 

addition, the impairment allocation can only be made against assets and is not 

allocated to liabilities. 

(b)  As on 31 March. 20X2: 

 All of the assets and liabilities, outside the scope of measurement under IFRS 5, are 

remeasured in accordance with the relevant standards. The assets that are 

remeasured in this case under the relevant standards are the Financial asset 

measured at fair value through other comprehensive income (Ind AS 109), the  

deferred tax asset (Ind AS 12), the current assets and liabilities (various standards) 

and the non-current liabilities (Ind AS 37).   

Asset/ (liability) Carrying 
amount as on 
15 September, 

20X1 

Change in 
value to 31st 
March 20X2 

Impairment Revised 
carrying 
value as 
per Ind 
AS 105 

Attributed goodwill  - - - - 

Intangible assets  868 - (29) 839 

Financial asset 
measured at fair value 
through other 
comprehensive income 

360 50 - 410 

Property, plant & 
equipment  

952 - (31) 921 

Deferred tax asset  250 (20) - 230 

Current assets – 
inventory, receivables 
and cash balances  

520 (120) - 400 

Current liabilities  (870) (30) - (900) 

Non-current liabilities – 
provisions 

 
(250) 

 
 - 

 
 - 

 
 (250) 

Total 1,830  (120)   (60) 1,650 
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8. As per para 74 of Ind AS 1 “Presentation of Financial Statements” where there is a 

breach of a material provision of a long-term loan arrangement on or before the end of 

the reporting period with the effect that the liability becomes payable on demand on t he 

reporting date, the entity does not classify the liability as current, if the lender agreed, 

after the reporting period and before the approval of the financial statements for issue, 

not to demand payment as a consequence of the breach. 

 In the given case, Company B (the lender) agreed for not to demand payment but only 

after the financial statements were approved for issuance. The financial statements were 

approved for issuance in the month of June 20X2 and both companies agreed for not to 

demand payment in the month of July 20X2 although negotiation started in the month of 

May 20x2 but could not agree before June 20X2 when financial statements were 

approved for issuance. 

 Hence, the liability should be classified as current in the financial statement fo r the year 

ended March 31, 20X2. The reason for current classification is as below: 

9. As per para 39 of Ind AS 7, the aggregate cash flows arising from obtaining control of 

subsidiary shall be presented separately and classified as investing activities.  

 As per para 42 of Ind AS 7, the aggregate amount of the cash paid or received as 

consideration for obtaining subsidiaries is reported in the statement of cash flows net of 

cash and cash equivalents acquired or disposed of as part of such transactions, even ts 

or changes in circumstances. 

 Further, investing and financing transactions that do not require the use of cash or cash 

equivalents shall be excluded from a statement of cash flows. Such transactions shall be 

disclosed elsewhere in the financial statements in a way that provides all the relevant 

information about these investing and financing activities. 

 As per para 42A of Ind AS 7, cash flows arising from changes in ownership interests in a 

subsidiary that do not result in a loss of control shall be classified as cash flows from 

financing activities, unless the subsidiary is held by an investment entity, as defined in 

Ind AS 110, and is required to be measured at fair value through profit or loss. Such 

transactions are accounted for as equity transactions and accordingly, the resulting cash 

flows are classified in the same way as other transactions with owners.  

 Considering the above, for the financial year ended March 31, 20X2 total consideration of 

` 15,00,000 less ` 250,000 will be shown under investing activities as “ Acquisition of the 

subsidiary (net of cash acquired)”. 

 There will not be any impact of issuance of equity shares as consideration in the cash 

flow statement however a proper disclosure shall be given elsewhere in the financial 

statements in a way that provides all the relevant information about the issuance of 

equity shares for non-cash consideration. 
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 Further, in the statement of cash flows for the year ended March 31, 20X3, cash 

consideration paid for the acquisition of additional 10% stake in Company B will be 

shown under financing activities. 

10. The amount of Beta Pvt. Ltd. identifiable net assets [` 400, calculated as ` 500 - ` 100) 

exceeds the fair value of the consideration transferred plus the fair value of the non 

controlling interest in Beta Pvt. Ltd. [` 384 calculated as 300 + 84].  Alpha Ltd. measures 

the gain on its purchase of the 80 per cent interest as follows:  

  ` in lakh 

Amount of the identifiable net assets acquired (` 500 - ` 100)  400 

Less: Fair value of the consideration transferred for Alpha Ltd.   
    80 per cent interest in Beta Pvt. Ltd. 

 

300 

 

 Add: Fair value of non controlling interest in Beta Pvt. Ltd.   84 (384) 

Gain on bargain purchase of 80 per cent interest      16 

Journal Entry 

 ` in lakhs ` in lakhs  

Identifiable assets acquired     Dr.  500  

 To Cash  300 

 To Liabilities assumed  100 

 To OCI/Equity-Gain on the bargain purchase  16 

 To Equity-non controlling interest in Beta Pvt Ltd.  84 

 If the acquirer chose to measure the non controlling interest in Beta Pvt. Ltd. on the basis 

of its proportionate interest in the identifiable net assets of the acquire, the recognized 

amount of the non controlling interest would be ` 80 (` 400 x 0.20). The gain on the 

bargain purchase then would be ` 20 (` 400- (` 300 + ` 80) 

11.         Journal Entries 

Purchase of Machinery on credit basis on 30th January 20X1: 

 ` ` 

Machinery A/c (5,000 x $ 60)      Dr. 3,00,000  

 To Creditors   3,00,000 

(Initial transaction will be recorded at exchange rate on the 

date of transaction) 

  

Exchange difference arising on translating monetary item on 31st March 20X1: 

 ` ` 

Machinery A/c [(5,500 x $ 65) – (5,000 x $ 60)]   Dr. 57,500   
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 To Profit & loss a/c (Exchange Profit & Loss)   57,500  

Profit & Loss A/c [(5,000 x $ 65) – (5,000 x $ 60)]  Dr. 25,000   

 To Creditors   20,000  

Exchange difference arising on translating monetary item and settlement of creditors  on 

31st March 20X2: 

 ` ` 

Creditors A/c (5,000 x $65)     Dr. 3,25,000  

Profit & loss A/c [(5,000 x ($ 67 -$ 65)]   Dr. 10,000   

 To Bank A/c   3,35,000 

Machinery A/c [(5,500*($ 67-$ 65))    Dr. 11,000   

 To Profit & loss A/c   11,000  

12.  Current tax= Taxable profit x Tax rate = `104 thousand x 25% = `26 thousand.  

 Computation of Taxable Profit: 

 ` in thousand 

Accounting profit  100 

Add: Donation not deductible 8 

Less: Excess Depreciation  (4) 

Total Taxable profit 104 

 

 ` in thousand ` in thousand 

Profit & loss A/c       Dr. 26  

 To Current Tax   26 

 Deferred tax: 

 Machine’s carrying amount according to Ind AS is ` 118 thousand (` 120 thousand – ` 2 

thousand)  

 Machine’s carrying amount for taxation purpose = ` 114 thousand (` 120 thousand – ` 6 

thousand)  

 Deferred Tax Liability = ` 4 thousand x 25% 

 ` in thousand 

Profit & loss A/c      Dr. 1  

 To Deferred Tax Liability  1 
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 Tax reconciliation in absolute numbers: 

 ` in thousand  

Profit before tax according to Ind AS 100 

Applicable tax rate 25% 

Tax  25 

Expenses not deductible for tax purposes (` 8 thousand x 25%)   2 

Tax expense (Current and deferred)  27 

Tax rate reconciliation 

Applicable tax rate 25% 

Expenses not deductible for tax purposes 2% 

Average effective tax rate 27% 

13. The annual depreciation charges prior to the change in useful life were  

Buildings  ` 1,50,00,000/15 =  ` 10,00,000 

Plant and machinery  ` 1,00,00,000/10 =  ` 10,00,000  

Furniture and fixtures  ` 35,00,000/7 =        ` 5,00,000  

Total =   ` 25,00,000 (A) 

 The revised annual depreciation for the year ending 31st March, 20X4, would be 

Buildings  [`1,50,00,000 – (` 10,00,000 × 3)] / 10 ` 12,00,000 

Plant and machinery  [` 1,00,00,000 – (` 10,00,000 × 3)] / 7 ` 10,00,000 

Furniture and fixtures [` 35,00,000 – (` 5,00,000 × 3)] / 5        ` 4,00,000 

Total   ` 26,00,000 (B) 

 The impact on Statement of Profit and Loss for the year ending 31st March, 20X4  

  = ` 26,00,000 – ` 25,00,000 = ` 1,00,000 

 This is a change in accounting estimate which is adjusted prospectively in the period in 

which the estimate is amended and, if relevant, to future periods if they are also affected.  

Accordingly, from 20X4-20X5 onward, excess of ` 1,00,000 will be charged in the 

Statement of Profit and Loss every year till the time there is any further revision.   

14. Paragraph 8 of Appendix B, Customer Loyalty Programmes of Ind AS 18, Revenue states 

inter-alia that if the entity is collecting the consideration on its own account, it shall 

measure its revenue as the gross consideration allocated to the award credits and 

recognise the revenue when it fulfils its obligations in respect of the awards.”  
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Accordingly, since PQR Ltd. is acting as a principal, it shall recognise the revenue at 

gross amount and the expense of providing free third party goods will be included in the 

cost of goods sold. 

Therefore, PQR Ltd. shall recognise the revenue of INR 40,000 and INR 34,000 shall be 

charged to the Statement of Profit and Loss as cost of goods sold. 

15. (1) Paragraph 2 of Ind AS 20, “Accounting for Government Grants and Disclosure of 

Government Assistance” inter alia states that the Standard does not deal with 

government participation in the ownership of the entity. 

Since ABC Ltd. is a Government company, it implies that government has 100% 

shareholding in the entity.  Accordingly, the entity needs to determine whether the 

payment is provided as a shareholder contribution or as a government.   Equity 

contributions will be recorded in equity while grants will be shown in the Statement 

of Profit and Loss. 

Where it is concluded that the contributions are in the nature of government grant, 

the entity shall apply the principles of Ind AS 20 retrospectively as  specified in  

Ind AS 101 ‘First Time Adoption of Ind AS’.  Ind AS 20 requires all grants to be 

recognised as income on a systematic basis over the periods in which the entity 

recognises as expenses the related costs for which the grants are intended to 

compensate.  Unlike AS 12, Ind AS 20 requires the grant to be classified as either a 

capital or an income grant and does not permit recognition of government grants in 

the nature of promoter’s contribution directly to shareholders’ funds.  

Where it is concluded that the contributions are in the nature of shareholder 

contributions and are recognised in capital reserve under previous GAAP, the 

provisions of paragraph 10 of Ind AS 101 would be applied which states that, which 

states that except in certain cases, an entity shall in its opening Ind AS Balance 

Sheet: 

(a)  recognise all assets and liabilities whose recognition is required by Ind AS;  

(b)  not recognise items as assets or liabilities if Ind AS do not permit such 

recognition; 

(c)  reclassify items that it recognised in accordance with previous GAAP as one 

type of asset, liability or component of equity, but are a different type of asset, 

liability or component of equity in accordance with Ind AS; and 

(d)  apply Ind AS in measuring all recognised assets and liabilities.” 

Accordingly, as per the above requirements of paragraph 10(c) in the given case, 

contributions recognised in the Capital Reserve should be transferred to appropriate 

category under ‘Other Equity’ at the date of transition to Ind AS.  
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16. As per paragraph 33 of Ind AS 17, lease payments shall be straight -lined over the period 

of lease unless  

 Either 

 another systematic basis is more representative of the time pattern of the user’s benefit 

even if the payments to the lessors are not on that basis  

 or  

 the payments to the lessor are structured to increase in line with expected general 

inflation to compensate for the lessor’s expected inflationary cost increases. If payments 

to the lessor vary because of factors other than general inflation, then lease payments 

shall be straight-lined. 

 Judgement would be required to be made as per the facts and circumstances of each 

case to determine whether the payments to the lessor are structured to increase in line 

with expected general inflation. Therefore, it is required to evaluate the lease agreement 

to ascertain the real intention and attributes of escalation in lease payments, i.e., whether 

the intention of such escalation is to compensate for expected general inflation or any 

other factors. 

 It is not necessary that the rate of the escalation of lease payments should exactly be 

equal to the expected general inflation. If the actual increase or decrease in the rate of 

inflation is not materially different as compared to the expected rate of inflation under the 

lease agreement, it is not required to straight-line the lease payments. However, the 

purpose of such escalation should only be to compensate the expected general inflation 

rate. 

 In the given case, the increase of 20% p.a. in lease rentals does not appear to have any 

link with general inflation which is expected to be 7%.  Accordingly, the entire lease 

payments should be straight-lined since the increase is not a compensation for inflation.  

17. As per paragraph 4 of Ind AS 33 “Earnings per Share”, when an entity presents both 

consolidated financial statements and separate financial statements prepared in 

accordance with Ind AS 110, Consolidated Financial Statements, and Ind AS 27, 

Separate Financial Statements, respectively, the disclosures required by this Standard 

shall be presented both in the consolidated financial statements and separate financial 

statements. In consolidated financial statements such disclosures shall be based on 

consolidated information and in separate financial statements such disclosures shall be 

based on information given in separate financial statements.  An entity shall not present 

in consolidated financial statements, earnings per share based on the information given 

in separate financial statements and shall not present in separate financial statements, 

earnings per share based on the information given in consolidated financial statements.  

 Also paragraph 9 of the standard states that an entity shall calculate basic earnings per 

share amounts for profit or loss attributable to ordinary equity holders of the parent entity 
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and, if presented, profit or loss from continuing operations attributable to those equity 

holders. 

 Further, paragraph A1 of Appendix A of Ind AS 33 states that  for the purpose of 

calculating earnings per share based on the consolidated financial statements, profit or 

loss attributable to the parent entity refers to profit or loss of the consolidated entity after 

adjusting for non- controlling interests. 

 Therefore. the requirements of paragraph 9 of Ind AS 33 have been provided in the 

context of calculating EPS in the consolidated financial statements of an entity.  

 The accountants of P Ltd. had followed this for calculation of Basic EPS in its SFS.  As 

per ITFG Bulletin 11, for SFS analogy may be drawn from paragraph 9 of Ind AS 33 that 

in case of separate financial statements, the parent entity mentioned in paragraph 9 will 

imply the legal entity of which separate financial statements are being prepared and 

accordingly, when an entity presents EPS in its separate financial statements, then the 

same shall be calculated based on the profit or loss attributable to its equity 

shareholders. 

 Hence, the presentation of Basic EPS by the Accountant of P Ltd. on the basis of 

consolidated financial statements in its separate financial statements is not correct.  The 

correct presentation of Basic EPS would be as follows: 

Calculation of Basic EPS of P Ltd. in SFS  

Net Profit after tax ` 20,00,000 

No. of share issued  2,00,000 shares 

Basic EPS ` 10 per share 

18. As per paragraph 9 of Ind AS 24, Related Party Disclosures, “Key management 

personnel are those persons having authority and responsibility for planning, directing 

and controlling the activities of the entity, directly or indirectly, including any director 

(whether executive or otherwise) of that entity.” 

 Accordingly, key management personnel (KMP) includes any director of the entity who 

are having authority and responsibility for planning, directing and controlling the activities 

of the entity.  Hence, independent director Mr. Atul and non-executive director Mr. 

Naveen are covered under the definition of KMP in accordance with Ind AS. 

 Also as per paragraph 7 and 9 of Ind AS 19, ‘Employee Benefits’, an employee may 

provide services to an entity on a full-time, part-time, permanent, casual or temporary 

basis.  For the purpose of the Standard, Employees include directors and other  

management personnel. 

 Therefore, contention of the Accountant is wrong that they are not employees of X Ltd.  

 Paragraph 17 of Ind AS requires disclosure about employee benefits for key 

management personnel.  Therefore, an entity shall disclose key management personnel 
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compensation in total i.e. disclosure of directors’ fee of (` 10,00,000 + ` 7,50,000)  

` 17,50,000 is to be made as employees benefits (under various categories). 

 Since short-term employee benefits are expected to be settled wholly before twelve 

months after the end of the annual reporting period in which the employees render the  

related services, the sitting fee paid to directors will fall under it (as per Ind AS 19) and is 

required to be disclosed in accordance with the paragraph 17 of Ind AS 24. 

19. (a) On evaluation of the financial statements, following was observed:  

1. For foreseeable loss provision is made and not reserves.  Hence, reserve for 

foreseeable loss for INR 1000 million, (due within 6 months), should be a part 

of provision.  Therefore, it needs to be regrouped.  If it was also a part of 

previous year’s comparatives, then a note should be added in the notes to 

account for regrouping done this year.  

2. Interest accrued and due of INR 1,110 million on term loan will be a part of 

current liabilities since it is supposed to be paid within 12 months from the 

reporting date.  Hence, it should be shown under the heading “Other Current 

Liabilities”. 

3. It can be inferred from Note 3, that the deferred tax liabilities and deferred tax 

assets relate to taxes on income levied by the same governing taxation laws . 

Hence, these shall be set off, in accordance with AS 22.  The net DTA of  

INR 600 million shall be shown in the balance sheet. 

4. The note to trade receivables was incorrectly presented.  The rectified note 

would be as follows: 

Trade receivables (Unsecured)  INR in 
million 

(a)  Over six months from the date they were due for 
payment 

 

 i. Considered good 0 

 ii.  Considered doubtful 80 

  Less: Provision for doubtful debts  (10) 

(A)    70 

(b)  Others  

 i.  Considered good 2,130 

 ii.  Considered doubtful 0 

  Less: Provision for doubtful debts        0 

(B) 2,130 

Total (A + B)  2,200 
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5. It is common to have a termination clause in service contracts.  Just by having 

a termination clause, a company cannot create a liability.  Para 14 of AS 29 

inter alia states that a provision will be recognized when an enterprise has a 

present obligation as a result of a past event.  

Since there is nothing to show that there is a present obligation, no provision 

will be made.  

As per para 27 of AS 29, a contingent liability is recognized only where the 

possibility of an outflow of resources embodying economic benefits is not 

remote.  Since there is no onerous liability as on the reporting date, the 

possibility of an outflow becomes remote.  Therefore, no contingent liability will 

arise.  In fact, the management has wrongly worded it as ‘onerous liability’ in 

its notes to accounts.  Onerous liability arises only when the unavoidable costs 

of meeting the obligation under the contract exceeds the economic benefits 

expected to be received from it. This note should be eliminated. 

6. The demand notice from the tax department (that is under litigation) is a clear 

instance of a ‘contingent liability’.  Accordingly, the note should be revised as – 

‘Contingent Liability:  

There is a demand notice INR 12 Million, which is under CIT (Appeals) as on 

the reporting date. 

7. The Statement to Profit and Loss needs to represent earnings per share, as 

per AS 20. 

(b) Revised extracts of the financial statements 

 Balance Sheet        (INR in Million) 

 Note No. As at March 31, 20X1 

EQUITY AND LIABILITIES    

Shareholders’ funds    

Share capital        2,000  

Reserves and surplus 1          3,000  

Non-current liabilities    

Long-term borrowings 2        10,000  

Current liabilities    

Trade payables  600 

Short-term provisions       1,500 

Other current liabilities 4    1,410 

TOTAL   18,510 
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ASSETS    

Non - current assets    

Fixed Assets      11,310 

Deferred Tax Assets 3       600  

Current assets    

Inventories      2,000  

Trade receivables 5     2,200  

Cash and Cash Equivalents     2,400  

TOTAL     18,510  

Statement of Profit and Loss 

(INR in Million) 

 Note 
No. 

 Year ended 
March 31, 20X1  

Revenue from operations  11,000  

Expenses    

Operating Costs  4,400  

Employee Benefit Expense  2,400  

Depreciation     1,998  

Total Expenses  8,798  

Profit Before Tax  2,202  

Tax Expense     300  

Profit for the period  1,902 

Earnings Per Equity Share    

Basic    9.51  

Diluted   9.51  

Number of equity shares (face value of ` 10 each)    200 million 

Revised Notes (wherever applicable): 

Note on Reserves and Surplus       (INR in Million) 

Capital Reserve      1,000  

Surplus from P & L   

Opening Bal             98  

Additions         1,902  2,000 

Total  3,000  
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Note on Long Term Borrowings 

Term Loan from Bank    10,000  

Total    10,000  

Note on Other Current Liabilities 

Unclaimed dividends    6  

Interest on Term Loan   1,110  

Billing in Advance   294 

Total   1,410  

20.        Samriddhi Ltd. 

Value Added Statement for the year ended 31st March, 20XI 

  (in ` ‘000) 

Sales   2,380 

Less: Cost of Bought in Materials and Services:   

 Operational Cost                `  (1,220 + 235) 1,455  

 Administrative Expenses    `  (25+8+62) 95  

 Interest cost      35 (1,585) 

Value addition by manufacturing and trading activities          795 

Add: Other Income         370 

Gross Value Added     1,165 

Application of Gross Value Added 

  (` in ‘000) (` in ‘000) % 

To Pay Employees:     

  Wages/ Salaries to Administrative Staff  330 0.28 

To Pay Directors:    

  Directors’ Remuneration    55 0.05 

To Pay Government:    

  Local taxes including cess 70   

  Provision for tax   87 157 0.14 

To Pay Providers of Capital     

  Interest on Debentures  180 0.15 

To Provide for maintenance     
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  Depreciation 240   

  Retained Profit 203    443 0.38 

  1,165 1.00 

Ratios  

(a) Gross Value Added to Material Cost Ratio = 
cost Material

 AddedValue ossGr
 = 

1220

1165
 = 0.95 

Higher GVA ratio of Samriddhi Ltd. in comparison to Industry shows that it has 

better material utilisation policy than industry’s material utilisation policy.  

(b)  Gross Value Added to Employee Cost Ratio = 
cost Employee

 AddedValue ossGr
= 

330

1165
 = 3.53 

Higher GVA ratio of Industry in comparison to Samriddhi Ltd. shows that Industry’s 

labour productivity or policy is better than Samriddhi Ltd.’s labour productivity or 

policy.  

(c) Gross Value Added to Sales Ratio = 
Sales

 AddedValue ossGr
 =

2380

1165
 = 0.49 

Higher GVA ratio of Industry in comparison to Samriddhi Ltd. shows that Industry’s 

sales policy is better than Samriddhi Ltd.’s sales policy.  

(d) Gross Value Added to Capital Employed Ratio  

= 
Earnings  Retained   capital  share  Preference    capital  shareEquity  

 AddedValue ossGr


  

=
 263  600    1500

1165


 = 0.49 

Higher GVA ratio of Samriddhi Ltd. in comparison to Industry shows that managerial 

efficiency of Samriddhi Ltd. is better than Industry.  Samriddhi Ltd. is able to 

efficiently utilise its capital in the generation of profit and in addition of value to its 

organisation. 

Note: Capital Employed may also include Debentures ` 18,00,000 as per the 

concept of Value Added.  In such a case, the ratio would be as follows:  

Gross Value Added to Capital Employed Ratio  

=
Debentures  Earnings  Retained   capital  share Preference    capital shareEquity 

 AddedValue ossGr


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= 
 800,1263600500,1

165,1


= 0.28 

Lower GVA ratio of Samriddhi Ltd. in comparison to Industry shows that  
Samriddhi Ltd. is marginally below the industry average. 

 

Note:  

Ind AS had been made applicable to certain companies from 1st April, 2016 on 
mandatory basis. Following which, various issues related to the applicability of 
Ind AS / implementation under Companies (Indian Accounting Standards) Rules, 
2015, are being raised by preparers, users and other stakeholders.  Although 
many clarifications have been issued by way of ITFG Bulletins or EAC Opinion, 
still issues are arising on account of varying interpretations on several of its 
guidance.  Therefore, alternate answers may be possible for the above questions 
based on standards, depending upon the view taken. 
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